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4 4 MULTIPLYING POLYNOMIXLS BY MONOMIXLS

Name: Blo-ck

Example #1: Determine each product.
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The symbolic/algebraic process is called the\yD ISTRIBUTIVE PROPERTY”: b
ro\d&

OR...the Distributive Law: https://www.youtube. com/watch?v-OV-GGOchmU
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Calculate each product. m
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Often questions will require that you first use the distributive property, we often call this:

@ expanding, and then ...
2/ simplifying.

Example #3:
a) 36X -2x-1)-
é“gxa_ bx- D ) )%x -12x+ 20)

I‘G‘X— 1 -2 - %‘x + 10 - 20 @Make sure you also ¢ stribute the negative

sign when expanding an expression

1B - ¥ W\ (S)collect like terms

s Yo solee.

Cf) Expand using the distributive property

\Ox + LO’DC - 2_53 @Combine like terms
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ultiply d binomial or a 'rr'momlal }@-:Qonomlal m
346 -2(-3x +1) 347 5(2% - ¥) ' 348.2y(7x-6)
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Multiply d binomial or a fr‘momlolhwonomial. A
346. -2(-3x +1) L 347. 5(2x *) 348, 2;/(7)(—6}

Possible solution strategy: P 3
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1) 8(2d” + 7dg + 9g?) =X T & 6) BK(9K’ - 2kq + 7q°)
(LA=B) (4-2-2)
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g Required quesfions Exfra practice  Exfension
@@Wﬁj 1,2, 3, 4obcd, Gabed, Babcd, 4ef, 5, Gef, 7, 8ef, 21,22
dabede, 10, 11abed, 12,13, %y, 1lef, 14, 15,

ASSIGNMENT #4 16, 17, 18abcd, 19a 18ef, 20
Section 4.4 pg 139-141

QUIZ ON 4.3-4.4 NEXT LESSON
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